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1 1 EIES ay! ZXOM 5 — u
2 2 EIES ay! HOHL % —
3 3 HES ay! O# 5 —
4 4 IES 751 B O % —
5 5 EITES ay! 2201 % —
6 6 EIES 7~ FOfEF 2z —
7 7 EIES ay! ROE /8 —
8 8 EIES ay! ZO%E /8 —
9 9 IES 7~ BRO# 7 —
10 10 EHIESS 751 FO 2z —
11 11 GiES 751 =OAh <8 —
12 12 e ay! BO= 7 —
13 13 GE 72 MO 5 -
14 14 e 72 ZOE 5 -
15 15 e 72 E2{@)=s % -
16 16 e 72 2Ok /8 -
] 17 Hrif 7N H #rOR] 5 —
2 18 HriE 7S H HO= % —
3 19 Hrik 7N H 20Otk % —
4 20 HriE 7S H #HROE == —
5 21 HriE 7N H #FOF 7 —
6 22 HriE 7N H #OME 7 —
7 23 HriE 7S H #FOHT 7 —
8 24 HriE 7S H HOZ 7 —
9 25 HriE 7N H 20F % —
10 26 HriE 7N H FOE % —
11 27 i 7 H 22O 5 —
12 28 HriE 7N H 20k % -
13 29 HriE 7N H HHOHE /8 -




14 30 i 7NH #FOFE /8 -
15 31 i 7N H FEOH /8 -
16 32 i 7N H #FOHE /8 -
1 33 KL 7NH wO&E % -
2 34 KL 7NH HOF /8 -
3 35 K 7N H HOE 7 -
1 36 AR 7N H #ROMH % -
2 37 AR 7NH 208 % -
3 38 AR 7NH O % -
4 39 AR 7N H Z0% % -
5 40 AR 7NH = O%E 7 -
6 41 AT 7NH RO 7 =
7 42 AT 75 H ZO 7 =
8 43 AT 7N H E@)as % =
9 44 AT N ZXO 7 =
1 45 = 7N AOE % =
2 46 = 7NH HOK 5 =
3 47 = 7N BRO®F % =
4 48 = 7NH SHOE % =
5 49 =il 7N H HOE 7 =
6 50 =il 7N H =OH 2z =
7 51 =il 7NH HOZE 2z =
8 52 = N =OME % -
9 53 = N mO& % -
10 54 = N ZXOlE 27 -
11 55 = N BOZE= <8 —
12 56 =il N #FO4E 5 -
13 57 =il N 2O 2z _
1 58 P JNH Ot 5 =
2 59 P 7N H fHO & % =
3 60 P 7N H 203 % =




4 61 S 7\ H FOR 2L =
5 62 %35 7\ H MORF 2L =
1 63 2 7\ H ZO% 5 =
2 64 2 7\ H it O7% 5 =
3 65 - 7\ H EOZ 5 =
4 66 2 JNH TOH 2L =
5 67 S 7\ H 207 2L =
6 68 - 7N H Z0=E 2L =




